NpdaBson — MoAAATTAACIOOUOC MOVIVULWY]

X+X+X+X= XX X-X=
3X+2X+X = 3X-2X-X =
2X+5X—-7X—-3X =

2Xy — 3XY +2Xy =

3Xy —15xy —2Xxy + 7xXy -5 =

3Xy —2Xy +4-4xy +7 =

12xy % —3x%y +12xy? +5x°y =

3x%y? +4x3%y® —2x%y°® —7x%y® + x%y° =

2X+3y +7X-9X+3y +2y =

3xy +2x°y —3xy? + 7x’y —8xy® +5xy -3 =

8X* +9Xx-5+7x*-2x-8=

TXYW — 3XYW + 2X°YyW —5XWY + 2WKYy + 2 =

[3x - (2x - 3y)]-[4y +(7x -9y )| =

[3xy - (2x -3y +xy)]-[7x - (3x — 2xy )] =

3x? — [3x —(2x2 —4x)—2x2]=

3x-2x% = 2x°y? - (=3x*y?) =
—2x-(=5x%)-(-2x) =
—3x-2x%-5x°% = 3x2-2-(-3xy®)=
—4xyw - 2x°y*w® =

2x%y®.3x%y® .x?y® =
(1
—2xy -(=5xy)-(+3xy)-(+ 2xy) =
(~2xy?)-(-2xy)? - (- 3xy?) =
(cxy)-(caxy?f - (+2xy) =



